R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors - Wood\DR-781\C - Drawings\TX-4565-68.dwg, TX-4567

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

GLAZED WOOD DOOR

w/ ARCH TRANSOM

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Wood Door system described herein complies with the 2018 International Residential
Code (IRC), Sections R301 & R609 and the 2018 International Building Code (IBC),
Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind-bormne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.

1

2

TABLE OF CONTENTS

SHEET #

DESCRIPTION

Typical elevation, design pressures & general notes

Door panel & glazing details

Elevations

Horizontal cross section

Vertical cross sections

Frame anchoring

NN AW N[ —

Bill of materials & components

135" MAX. OVERALL FRAME HEIGHT

74" OVERALL FRAME WIDTH

37.5" OVERALL
FRAME WIDTH

1.78" —— |=—

98.5" MAX. OVERALL FRAME HEIGHT (INSWING)
97.25" MAX. OVERALL FRAME HEIGHT (OUTSWING)

I

120" MAX. OVERALL FRAME HEIGHT

OVERALL DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION | FRAME v INSWING OUTSWING
DIMENSION POSITIVE |NEGATIVE | POSITIVE | NEGATIVE
% 37.5" x 120.0" G1 +55.0 -55.0 +55.0 -55.0
,—(07 740"x1350" | &1 | +55.0 | -55.0 | +55.0 | -55.0

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

0
==
5o
LImJZ
%)
= oF
S Z L
S o=
or | B
= >l <O
< 3 =
Wy
BEE
¥R o o
o] 0l o
= < <<
|0 el SR
(3 awv
S ol =0
o x o
o < o
[a a
[0)]
>_
S|
O
x
S |n
ol (=
o 3
S| £
S @
[
o
=
a
a
)
N
™\
2=
NS
—lo
z

DATE: 9/29/15

sCAle:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4567

SHEET 1]

oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors - Wood\DR-781\C - Drawings\TX-4565-68.dwg, 2.3

677"

1.7"

LATCH, HINGE STILE "

/"1 "\ HORIZONTAL CROSS SECTION

\2/

36" MAX DOOR
PANEL WIDTH

>

96" MAX. PANEL HEIGHT

== =3

/
Vi
/

21.25" MAX.D.L.O.
WIDTH (TYP.)

v

P

67" MAX. D.L.O. HEIGHT (TYP.)

O
/
/ <2>

1na
oo
(ININIW]
oo

Q'“
S

[

5.92"

1.7"

/— TOP RAIL

6.64"

EX<;I§OR/

/“2"\ VERTICAL CROSS SECTION

INTERIOR

8.88"

- MID RAIL

| 5/8"X 5" DOWELS
(TYP.)

Y

PANEL INSERT

i

7“3\ VERTICAL CROSS SECTION

/ 4"\ VERTICAL CROSS SECTION

DOOR PANEL
(agysectti &

\2/

N0\
ST &
2 é\'%*;l"i 9 §~.a~’7
.-'J‘_\_‘t;.-“‘ IS e,
P Zw B, o
= d 5 i K i3
D = pu el
2 O b Ot i
z d , pur, Uiz
J % 1O
%o / O, Qi
X = T / @ eiZ E
<oz O QK s> F
> = Nyarid: T
= n / 1‘!\'\.\\'\.\‘\\_’\,
LS Vi
P4
e 755'MAX.D.LO. WIDTH ‘
74" MAX. TRANSOM WIDTH |
@ TRANSOM PANEL
) =1 L
% é =
18 GA. X 1-1/2" /
LONG BRADNALS ‘\@
(1" FROM CORNERS \
& 6'0.C.
) EAERIOR INTERIOR
PANEL INSERT GLASS STOP
7”5\ VERTICAL CROSS SECTION
\2/
72 ;
.
1.45" —|
TRANSOM GLASS STOP
™___ BOTIOM i
8 5
18 GA. X 1-1/2" =
LONG BRAD NAILS —1
(1" FROM CORNERS
560C) GLAZING BEAD
0.59" GLASS
g BITE
3/4" THK. GLASS
| BTEM.
§§§ ~~— AIRSPACE
1/8" TEMP.
RUBBER SPACER (w/ DECORATIVE INSERT)
TREMCO "DYNAMIC" POLYURETHANE
17— GLAZING COMPOUND

C:) GLAZING DETAIL

uj
e
-
a
3
20 0
ES o
£ n
S M
nw )
.o )
™ N
) [[gpete
c < b
0 X o -
T w (i)
I T 0
e o ©
>mMm
-
(o} 4]
M
N
X
[0}
s3]
(e}
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

0 3
P <
On ~ =
ng %L&I
o . =
= 3 Bes
R ERSS
wn
WO | S
ag (<,() o0
=
=0 & 3
O
Q o
o
S &
o o
D>
][

11,/19,/20[UPDATE TO 2018 IBC/IRC

NO| DATE

1

REVISIONS

DATE: 9/29/15

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4567

SHEET 2 oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaiing *m'sd s 102 @

2s8ll—d # NOILVYLSIOFY 40 3LvOI4ILy3D g SNOISIATY VT TON
SYIINIONI TVNOISSIJ0¥d 40 a¥vOog Svx3L I 0| . 7_
g e pe— SHOLWLT S41 odl/081 gloz ol 31vadn|oz/6L/LL] L Lt X m 5 o
S6SEE 14 OOUIPA 0EZ xog .o.n_gg. A CHERSY B0 % _M - M.u ©
"ONI ‘SINVLINSNOO 9NIQTING N . g | 3_

4000 AOOM o |£lgle X
CZLPOL# '3'd Svxal SNOS ANV S3A3LS ol = P B rr
‘I'd ‘IPIWYDS "4 uopuk) :Ag padpdaid sjuswnooqg :19NA0¥dd M % W w m %
IS
X
i NN
X S o~ =

|

"J" Series
"J" Series

HARDWARE TABLE

KNOB:
DEADBOLT:

SEE HARDWARE CHART
(TYP.)

MANUFACTURER |
DEXTER

o
X

D > S

£'€ 'BMP'89-5951-XL\sBUIMEIQ - D\LBZ-HA\POOM - 51000 PabBuiH\suj J0 3daQ Sexa] - §\IUsUBULIS - SUOS PUB SaARIS\SIUBID\Y



*ON| SLNVLINSNOJ 9NIg1IiNng "'M'd sL02 @

ZS8LL—4 # NOILVHLSIOZY 40 3LvOIILY3D ¥z SNOISIA3S VA TON
SYIINIONI TYNOISSII0Hd 40 a¥vos SvX3L | . ~
SR SASTELE 1Oy BuBYy SNOLI3S mmwmo TVINOZISOH 159 0¥I/081 810z 0L 31vadnloz/6i/11] L ||| m i r_
Seere 14 Sollth BOE oY .o.mgg "A18W3SSY ¥0 Ldvd R _m w |9
*ONI ‘SLINVLINSNOOD 9NIaTINg / .. m | 4;
40004 QOOM o) 51l x
SZLPOL# "3'd Svxal SNOS ONv S3AILS Widle|xl|2 B
‘J'd ‘IPIWYDS "4 UOPpUAT :Ag peipdaig sjuswnoog 119Na0Y¥d SISIEl5% &
O
=z
m w
z =
% &
a : ) =
1 <
/.. 1 “ -
“ . ’ “ “/_
e ) “‘ m
: f
x,. ‘\ m \.Wl
g f Y W m
— | a2
e ¢ o
_, f (e
= =(E
‘// M )
25
« Q|2
(2
(o] )5]
|0
= ~
2§ OIS
=S
x % Xz =
: : ®
= o ©
0
L =
= >
Z i - o
- :
= [T @ 3 : :
ol _ = =
=5 = fJ
Ol
wE
S W
«) gle
Q|3
] Gl
\ —t W
|3
_ Sl
! Q2
2 —® £
) Ol5
ons =
|
@
o
[
L
T
@°
z ./
2
e ~
o

2)

/"1 "\ HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

C-SINK (TYP.)
DRYWALL —\ %} ?

[INGPCRINS
EXT. SHEATHING @ EXTERIOR

€' 'BMP'89-5951-X L\sBuIMeIq - D\L8Z-HA\POOM - 5100Q PabuiH\suj JO 3daQ sexa] - g\JUBUBLLIR - SUOS PUE SaAJIS\SIUBIID\'Y



LAY Q;‘.,’Ll w

ST @

A \ ,-.";'::v"‘ “(5 E : &3 3 c
P \“ —~ %.‘...-: ] :.u." % g &)
— SXTAEE 20, E
. 7+ £+ B U
\‘ = ORT ) ! V|05 . - Zz
¢( | |#] S EXTERIOR ‘ F" : R 5 1 0 i % M %
iy ’ - . fein 2 @ 2§
lel] e INTERIGR % — ol PNISIEINGIAWN |fe T8 L
1|4 5 | SW, SRR ) \ gx 592 2
EXT. o114 o (’?\/,4."._ e . G E T® g
SHEATHING ® . : 113\/&';..".32 :-'".’.Q\QQ,Q' il a g 5 &
Pl : A = Z5 UyrxiZi i Rf 2o &
¢ | | # : DRYWALL -2 : 111\\_\'\\.\»\"\. 5‘ 8 3 . E
L1 P .-S = k] 03 2 L
: Ss% © Z2mgy O
Ll : (@) 5 8.5 @
. . >® * 3ok %
' 36) (35 @ -
O —T 0 =T e (%)
P 3
- <:> £ ]
§ [=

CERTIFICATE OF REGISTRATION # F—11852

o i

-

/
18GA X112 ‘\@ 1
BRAD NAIL (TYP.) - ) - N
EXTERIOR 3 s L
GLASS STOP (TYP.) R é 5 % E gm 2
x 2 (39 \‘ <2 oS | 2E
& INTERIOR /) 40) exenor S8 28 |5 §§
o m
1\ VERTICAL CROSS SECTION a8 |3 ¥4
@ Outswing shown (Inswing similar) m VERT’CAL CROSS SECTION %g @ %
\5_/nswing T by
2 o
o =
@ EXTERIOR " INTERIOR | £ <
® o ! s
INTERIOR EXTERIOR @ [ =
@/ o} ~n % E
@ / EXTERIOR INTERIOR >® x 0
| ® S B i 1
32 z
1 S %
® ® — il
A <= § E
$ie I & N @
§\ EXTERIOR INTERIOR Sé —13
> 1 =

DATE: 9/29/15

scale:  N.T.S.

WOOD WOOD @ DWG. BY: JK

/‘p rongdl oot (D) concret fg\ Somirgsi eI (D) CoNCReTe / 3\ VERTICAL CROSS SECTION o ov.__LFS
U \_/ \y OUfSWing DRAWING NO.:

TX—4567

SHEET 5 oF 7/

R:A\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors - Wood\DR-781\C - Drawings\TX-4565-68.dwg, 5.3

© 2015 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors - Wood\DR-781\C - Drawings\TX-4565-68.dwg, 6.3

2X FRAMING
(BY OTHERS)

P

2" (TYP.)

|
|

&" (TYP.)

IS N %
(TYP.) =
. 4 =
%
| SEE 4 —
DETAIL 1
FRAME —" |
(TYP.) B _
> o
e
B T o
SEE NG
DETAIL 3
1 1

WOOD G
CONCRETE Q

SILL (TYP.)

@<Z1¥

6 (MVP) =] T

X

—W—

HINGE DETAIL

—

2X FRAMING Z[0F)

(BY OTHERS)

N

>\/

S/

QD

(TYP.)

5.25" MAX. O.C. (TYP.)
L I 1

AY

||~— 2 (rvp)

I

SILL (TYP.)

CONCRETE Q SEE DETAIL 4
{{:l I |

‘ki‘ 1
SEE DETAIL 2

8 (TYP.) ——|

17.5" MAX,
0.C. (TYP.) |

6" (TYP.)

L
3" (TYP.)

FRAME ANCHORING

DETAIL 1
Inswing

W\

DETAIL 1 G
Outswing

4 (TYP.)
- 4" (TYP.)

ki

XX

@)

PP/ \ N>

o

Inswing

/@

= === L
Q\

DETAIL %

Outswing

1L

Ny

DETAIL 3
Inswing

36

|<~ 9.87"

o

25.25"—
o]

25.375"

HINGE JAMB

DETAIL 3
Outswing

SEE HINGE DETAIL

60.875"

STRIKE JAMB

DETAIL 4
Outswing

Lud
- 'r’,
_\:\_\Z‘;{:‘:‘:\L'Lll o N
NN’N::’C’)* 23 @ o
~ e H H £ 8 Hm
,S"(Z}“." .: s -S* n z‘u—)
L A I T O Ol o
e - |
S0 $ o Z z
AU ol D2 W R
504 TR 0 y W e S
ot slo cg P 5 =
Gul ¥ Nisi 55 Eoo I,
fz\’“‘ﬁ 3 T 209 §6
XA 0 SF R EV ==
QL. iR > J50 0Ok
31\/&‘-. ss 2>m O
Qi xS 2on 5h
Izl i 8 3 om~ 235
13t ) ool o
0 xz
o) o L
e E0o Ob
4 J .5
o =0 © x W
. o Mmoo OL<)
2 § oE
= 0 =
o <@
E g b6
- =
o]
o
o
~O
&)
2 =
O o
S S
=
B2 | .. 3
= E =
- <o |m <
mg Z
s Ye o X
5 o= |o S
1 = <l 2D
= ) | O
()
= o
o e
12 <
o a
B 0
>_
Sl
ASTRAGAL
O
X
o
(] I e
©)]
2 |
Q>
o &
2
3
a
35 %
3
S
S\
} o=
Pt ~ Al
T -
~|o
=z
36 DATE: 9/29/15
SCALE:  N.T.S.
DETAIL 4 DWG. BY: JK
Inswing cHk. BY:  LFS
DRAWING NO.:
TX—4567

SHEET 6 OF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS Sorvial, . P e
TEM # | DESCRIPTION MATERIAL SaxT aE A Ei o B
A | 2X FRAMING (G >= 0.42) WOOD E5F NriS 5, o8 &
C [1/4 MAX. SHIM SPACE . 30\%(‘L : N G
D | 1/4" PFH DeWALT OR TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL 9L G §8 05 2
F__|#8 X 2-1/2"PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL o, S EF Bx8 5P
K| 3/16" PFH TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL e win f g-0 W
P | #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL Wriniose® 5 8R. f9
X | 1-3/4" X 4-5/8" SOUTHERN YELLOW PINE MULLION (G >= 0.55) WOOD 3 28 Z -~
1| HEAD AND SIDE JAMB WOOD % 455 D [§ 255 en
7 | WEATHERSTRIP (QLON) FOAM S : R g Ba¢ &
& | DOOR SWEEP WOOD y~—r——— s = e
19| SIDELITE SPACER PVC E xR E8
20 | INSWING SILL WOOD rﬁ §
21 | OUTSWING SILL WOOD
22 | 4"x 4"HINGE STEEL P
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #8 X 3/4" PFH WOOD SCREW STEEL FRAME %) %
27 | LATCH STRIKE PLATE STEEL @ Se | ==
28| DEADBOLT STRIKE PLATE STEEL oS | K2
33 | SURFACE BOLT SPACER - o |2 =2
34 | SURFACE BOLT (IVES 454 8" LONG) STEEL nS |[2| 88
35 | #8 X 1"PFH WOOD SCREW STEEL 543" , @3 2 s
36 | SURFACE BOLT GUIDE PLATE STEEL ;, | 4.69" - 512 g ®
37 | SURFACE BOLT STRIKE STEEL = é b
39 | #10X2"SEXBOLT STEEL ] ' 2.63" - & &
40 | WOOD DOOR PANEL - 0
45 | ASTRAGAL [MAHOGANY] WOOD % W\%)) // // // Sl
NOTE: WOOD DOOR COMPONENTS: PINE CORE w/ MAHOGANY LAMINATE AA
@ INSWING THRESHOLD 1) QUISWING THRESHOLD g
& 2
@]
ol 2
CONCRETE ANCHOR NOTES: S %
1. Concrei.‘e anchor Iocaﬁor_ls_of the corners may be adjusted to maintain the min. 0.590" GLASS o o
edge distance to mortar joints. . 18 GA. X 1-1/2" —’ BITE W
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to LONG BRAD NAILS 3/4" THK. GLASS =
maintain the min. edge distance to mortar joints, ad.diﬁon_al concrete anchors (1" FROM CORNERS g
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. &6'0.C. 1/8" TEMP g
3. Concrete anchor table: / . N i
NEHAR L EaMING EMING CLEARA'NCE *MIN.”,C,L»EARANCE S 2=
_,‘f“riﬁ’f’?. {56 | EsEDMENT | TOMASONRY | 7O ADIACENT ARSPACE &
Apcon® | 174" 1-1/4" 4 & ALUM SPACER T
TREMCO "DYNAMIC" POLYURETHANE
ugngégnf 1/4" 1-1/4 L 4 GLAZING COMPOUND scae:  N.T.S.
== - - “ - () GLAZING DETAIL DhE B ol
TAPCON® 18 1:l7 ) ks (D:::\.wz: NO.: i
WOOD SCREW INSTALLATION NOTES: _ ' TX—4567
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing
of wood screws to prevent the splitting of wood. SHEET 7 OF 7

R:AClients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors - Wood\DR-781\C - Drawings\TX-4565-68.dwg, 7.3

© 2015 R.W. BuiLDING CONSULTANTS INC.



